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B. Com. (Part IT) EXAMINATION, 2020
(Old Course)
(Group—I : Accounting)
_ Paper First
CORPORATE ACCOUNTING
Time : Three Hours
Maximum Marks : 75
Minimum Pass Marks : 25
=ha i dig wE & SR AR | TRe TeR ¥ U@ T
we afard 2| o vt & aie waE §)
Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

TIE—1

(UNIT—1)

1. 3E P & & q e & ? ui @1 vt R far wmn
82 @ W R W o e w gfnife ) o
W € 7 ol B wr ok s gAfefe ¥ woh
(ofer) wRReat 4R |
What is the meaning of forfeiture of shares ? How are
shares forfeited ? Can forfeited shares be re-issued at

" discount ? Give journal entries for forfeiture and re-issue
of shares.
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Fperar

(Or)
1 3, 2016 @ e fifes | @@ T 100 I 1000
Fogat &1 fafem ) @9 ast @ gverq g Forest
@1 IO W O W fea W o) gw g FhE A
woE e o o P fea) dueet 3 smws
AFs S ¥g T 1,00,000 F vH d diferdt A B A
fofa ) vdw o @y A dr difeed @ affe
W 7 30,000 fRar |
F @) Graed! ¥ sEws @ ey |

On 1st April, 2016 Robbins Ltd. issued 1000 debentures
of ¥ 100 each. These debentures were to be redeemed at
par at the end of three years. The directors decided to take
_out an insurance policy of ¥ 1,00,000 to plpvi&e necessary

* cash. The annual premium of ¥ 30,000 was paid at the

beginning of each year.

Open necessary Ledger Accounts in the books of the:

company.
T2
(UNIT—2)
ARA B afRfEE, 2013 @ Fld U A B

- fe w R BW T WO S W gEkEa oF @

fam & ? @ |

What are the rules regarding the preparation and
presentation of final accounts of a company under the
Indian Companies Act, 2013 ? Explain.

(A40)
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Fgar
(Or)

- w TR e RifRs @ 1 add, 2019 3 W

wee g ) e g, Rret 5w ot agel
W 3% a1 SivEnRal @ qaE B W Al W 2%
uRefie Mo 8, @t waRel & aEh @ @@
31 7rd, 2019 & HwA B Prfaiea Refi of

: T
waRml & a¥elewer @ w i 50,00,000
WA g | 90,000
IR ATER (T B @ UF HE B
TGl T4 ¥ 2 60,000 M 8) 6,80,000
5000, 6% IR 3% YAF T 300
(31 wrd, 2018 & @MY YHAT ) 15,00,000
10000 THaT 3% IS T 100 F (% 90
39 Tifea wd &) 9,00,000
W w9 (31 91, 2019 T9) 12,00,000
am-aity Raww w3 (@ftvs) (31 9, 2019) | 2,00,000

FR @ Frartiaal @ ER EiteR sweRal & wwar
39 Gl &1 T S B UvEn 99 gy e B 1/3
AT W & BT ISR 2 |

freRe &1 affaw faror @mar IR ik

The Sun Mining Company Limited went into voluntary
liquidation on 1st April, 2019. The liquidator, whose
remuneration is 3% on realisation of assets and 2% on
distribution to shareholders, realised all the assets.
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[4] CD-2023

The following was the position of the company on 31st
March, 2019 :

<
Cash on realisation of assets 50,00,000
Expenses of liquidation 90,000

Unsecured Creditors (including salary and
wages for one month prior to liquidation

¥ 60,000) 6,80,000
5000, 6% preference shares of ¥ 300 each
(Dividend paid-up to 31st March, 2018) 15,00,000
10000 Equity shares of ¥ 100 each (X 90
per share called-up and paid-up) 9,00,000
General Reserve (as at 31st March, 2019) 12,00,000

Statement of Profit & Loss (Surplus) as at ,
31st March, 2019 2,00,000

Under the articles of association of the company the
preference shareholders have the right to receive one-third
of surplus remaining after repaying the equity share
capital.

Prepare Liquidator’s Final Statement of Account.
TPR—3
(UNIT—3)
s HO &1 R U 98 1 g oM B BT A
FE B qEER HA: T 4,00,000; T 4,20,000; T 4,50,000;
% 4,60,000 31X % 4,70,000 ¥ | =R ¥ ffEifm Eh
%.40,00,000 3 | R Foft o Sfim ama T 10% i
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| @ A fbar S € f @ anTel diw ast T

FferemT I YR W e R

() ofer @ affd & R W 'R B A
PRTY| 10% @rs F R R oF a9 B g 213
e &1 adaE= Teu % 3.78 AT WH |

(i) B SR A W R erm ;S W BT
i & w Sha yamm @ farer @ st
g am @ onfdie @ Yolewer | W, Al
Iy YT B W 10% 8 ?

(iii) 9 T B IER TR DY IO AR BT |

The net profit of a company after making provision for

taxation for the last five years are T 4,00,000; T 4,20,000;

T 4,50,000; ¥ 4,60,000 and T 4,70,000 respectively. The

capital einployed in the business is ¥ 40,00,000 on which

the expected reasonable rate of return is 10%. It is

expéctecl that the company will be able to maintain its

super profits for the next five years :

(i) Calculate the value of goodwill of business on the
basis of an annuity of superprofits, taking the
present value of an annuity of one rupee for five
years at 10% interest as T 3.78.

(ii) How would your answer differ if the goodwill is
calculated by capitalising the excess of the annual
average distributable profit over the reasonable
return on capital employed on the basis of the same
return of 10% ?

(iii) Calculate goodwill on five years’ purchase of super-
profit.

(A-40) P. T. O.
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Fear

(Or)
Ra fafite 3 Frafafea aftefat ord ax @ & .
SOOOOOWSI'!T?IOHQIW,-'{#W % 50,00,000
33000, 10% Yaif@R 3w T 100 9y ¥,
o gea ‘ 7 33,00,000
20000, 8% FUI97, T 100 Uit Foas 120,00,600
FOTA W AW 1 W URR S @7 AN A
¥ 38,20,000 8 | ATPY B T 25% TAT AMIY B P X
10% #1f |
Ife EiReR oful W UM YW TR 8% Ul §wdl
Il W WAY T R 12% €, @ T @ qEifter
el &1 geg s PR |
Bharat Limited has issued the following securities :
500000 Equity shares of ¥ 10 each fully

paid v % 50,00,000
33000, 10% Preference Share of 100

each fully paid . ¥ 33,00,000
20000, 8% Debentures of ¥ 100each 20,060,000

Average profit of the company before debenture interest
is T 38,20,000. Assume that the Income Tax rate is 25%
and tax on dividend is 10%. ;

If normal rate of return is 8% on preference shares and
12% on equity shares, ascertain the value of equity and
preference shares.

(A-40)
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THE—4
" (UNIT—4)

"'4.m=h$q&&ﬁwﬁamwmaﬁ§?mﬁ1$

.

PaRe @ wHa fAmar e B gw@l ¥ d g ol
(oriar) wfaftedt §ifvg |

What do you understand by amalgamation of company ?
Give journal entries in the books of the vendor company
at the time of amalgamation of the company.

JREr
(Or)

gue fafies Rea @it 2 10 @@ sl F e

% 5,00,000 &Y, @1 FrferfRea vl w gafiaior gan

IS IR B AT gAM AW B gga A FfaRaa

I B

(i WWMﬁ%W%WWW
39|

(i) Sww wEa Ul @ %'@$w10%
qaifereR 3|

(iii) 60,000 B 8% FUIA |

wnfa &1 o8 ¥ 3,25,000 | €@ T 1,50,000 far wa;

da=fe s T 90,000 o1, HEIHY T 75,000 #% fear A

e WAy, e g/ 18 T 1,10,000 o, ERTER

% 1,00,000 &% far wan |

Iaa Ao B FEiFad B B Y SmEEES gooh

@R 9157 |
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Indo Limited had a share capital of ¥ 5,00,000 divided

into shares of T 10 each. It was reconstructed as follows.
Every shareholder to receive the following in exchange of

his present shareholdings :

(i) Fully paid equity shares equal to the -§-th value of
present shares.

(ii) 10% preference share equal to -;-th value of the

aforeséid equity shares.
(iii) 8% Debentures worth ¥ 60,000.

Value of goodwill has been reduced to ¥ 1,50,000 from
¥ 3,25,000. Plant which was shown at ¥ 90,000 was

reduced in value to ¥ 75,000. The book value of freehold

property, which stood at ¥ 1,10,000 was reduced to
¥ 1,00,000.

Prepare necessary Ledger Accounts to give effect to the

above scheme.
TIR—5 !
(UNIT—S5)
31 @, 2019 @ ‘A’ fafite ok B’ fafice & iRl
vd gefal @ wfta Rewer e or) B fafics
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HRREn
fafaer wwaferdt 19,00,000 |  8,00,000
ERe W= (373IR) 5,00,000 |  2,50,000
WEgd HFA1 W Y (T 100
el 8000 W AT W) 5,50,000
29,50,000 | 10,50,000

‘A’ ffee @ 3eRT ¥ 2 1,00,000 # vE IR W 8
W B fifice gR 2w R 1 IEER, 2018 B A
fifee & B’ fafits @ v yw R 3w Ry &
qEE TR @ amE R 7@ ¥ € 4,00,000 4
(&%) oy o)

srea fa @ o ferg vd fifde Riger T RT |

The following are the summarized details of Liabilities
and Assets of ‘A’ Limited and ‘B’ Limited as on 31st
March, 2019. ‘B’ Limited is a subsidiary company of ‘A’

A fofies 9 werms ow ¢ ¢
‘A’ fofies | «p’ fofies
8ot ® Q)
EoE
3w ol (% 100 wi) 18,00,000 | 10,00,000
am-gi faaRe-um
(arfer / &) 3,50,000 | (2,50,000)
RS 37 (AER) 8,00,000 |  3,00,000
29,50,000 | 10,50,000
(A-40)

Limited :

L] A’ ‘B!
Particulars Limited Limited
® ®
Liabilities :
Share Capital (¥ 100 each) 18,00,000 | 10,00,000
Statement of Profit & Loss
(Surplus/Deficiency) 3,50,000 | (2,50,000)
Trade Payable (Creditors) 8,00,000 3,00,000
29,50,000 | 10,50,000

(A-40) P. T. O.
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Assets : =
Sundry Assets 19,00,000 8,00,000
Trade Receivables (Debtors) 5,00,000 2,50,000
Share in Subsidiary
Company (8000 share of
¥ 100 each at cost) 5,50,000
29,50,000 | 10,50,000
The Debtors of ‘A’ Limited include ¥ 1,00,000 due to
from ‘B’ Limited. ‘A’ Limited acquired the shares of ‘B’
Limited on 1st October, 2018 when the subsidiary

company had a deficiency balance of Statement of Profit
& Loss of T 4,00,000.

Calculate minority interest and prepare a consolidated
Balance Sheet.

Fgar
(Or) 5
#ﬁa%am-aﬁmﬁmwmmvawmm
e 3 gem ¥ wemy .
Give a specimen of Bank’s Profit & Loss Account and
explain its each head in brief. '
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